D1visION: LARGER NUMBERS (H - SET 2)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

o —19134 + 9 =

) —868 + (—1) =
) —0972 = 6 =

v 37430 + 10 =

W —12265 + 5 =

w0 80030 + (—10) =
6 34629 + (—=7) =
69 —58320 =+ (—9) =
) —28250 + (—b) =

w0 —4980 < (—4) =

Mathematics: Division - Level 4 - Horizontal - Set 2

10

171)

172)

173)

174)

175)

176)

177)

178)

179)

180)

—38280 + 6 =
11984 = 2 =
—8242 + (=2) =
59964 + (—6) =
—8325 + (—1) =
—4371 + (=3) =
—15760 +- 4 =
6194 + 1 =
60277 + 7 =

20570 + (—10) =


https://www.workulum.com

